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a?)__@i.:ﬁd b) —441}:7&@/43 ]9: 176
g:,%;) d=8 176 = 1p
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2. Show whether x = —15 Substitute or "plug in” to check this.
a) 7x = —=105 | b) 1= IXS
7('/$'>:“/05/ y - - /9’/
Sjps =105 % !l _ ?///?,zf 2
¢) =5- =-5 | d) -90 = —6x |
;% =5 _gp= /’é«[’/5>
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3. Solve — show all your steps ,
a) 3x —X = 7 b) —2x +.X= —5
#2 +2 X -3
2 T4 _ax="8
c) 4x +X= -3 d) 12 = 5x + 2
Uy =- e e
= ﬂf,f,}
A= E
e) 23 = 5t +.X £) 3w + 20 = -7
-3 _ - 20 =20
20 2 5¢ s = - 27
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g) —2f - X = 11 h) —10 = 2g - 12
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4.Solve each eqguation.

a)-3=15-7 b) ¢ + i— S I
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o % : - ,
(7) 4 =2 ()/,.D(,,) <vﬁ)&;265/
23=N x = 33 i
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5. Solve each equation. Solve two of them by division and two by ‘
distribution.
a)y4z2 =7y + 4) b) —4(c - 10) = 40
7 7 : = ol
=Tl : C-10 = -10
L{ +i0 + 10
Zj.l C =0
c)-1(r+8) =0 d)ﬁ/z?]—S)
r+8=0 L ¢
-g -% IEARES
rz -8 o
— Q= \)

6. Show whether x = 4 is the solution to each equation
a)2(x+7)=22
2 (il> =22

b) 24 = 8(x — 1)

2d= $(-3) /W
27434 %

c) —15= -3(x - 9)
~/5 = f”é&@
,fsj/f? ﬂ%
d) —5(x +2) = —
_5(g) =30

~30 = -3¢ %,
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